AEKATH OrAOH AOIIzTIKH OAYMINIAAA 2024
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHrIIEZ NPOZ TOYZ AIATQNIZOMENOY2

For each question, choose and circle the correct answer A, B, C, or D.

MNa ka0e epmwTnOoN, ENIAEETE KAl KUKA®WOTE TN OWOTH anavrnon A, B, ' n A.

1. TOP PLC has in issue 100.000 ordinary shares of nominal value €0,5 each. The
current market price is €2,00 per share. TOP PLC has announced a 1 for 2 rights
issue at €1,50 per share.

As a result of the rights issue the company’s share premium account increased by

A. € 100.000
B. € 25.000
C. € 50.000
D. € 75.000

1. TOP PLC &xel €ekd0Bev PeTOXIKO KePaAaio 100.000 KOIVEG HETOXEC OVONAOTIKNG a&iag
€0,5 n kdbe pia. H Tpéxouoa TIPN ayopdc ival €2,00 n kabe peroxn. TOP PLC
avakoivwoe Tnv €kdoon 1 npog 2 dIKAIWKUATWV ayopdg JeToXwVv nNpog €1,50 ava
METOXN.
>av anoTeAegpa TnG €kdoonG dIKAIWHATWY ayopdc HETOXWV TO anoBepaTiko €kdoong
METOXWV UMEP TO APTIO AUENONKE Ot.

A.€100.000
B.€ 25.000
. € 50.000
A. € 75.000

2. The following accounts are included in the trial balance of a limited company:

1. Share premium

2. Investments

3. Accumulated depreciation
4. Carriage Inwards.

5. Bank overdraft

Which of the above accounts usually have a credit balance?

A.1,2and 3
B.2,4and5
C.1,3and5
D.1,2and5
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2. Oi1 mo katw Aoyapiacuoi cupnepiAauBavovTal oto 100lUyIo €TAIPEIAC
NEPIOPIOPEVNG €UBUVNG:

1 AnoBeuaTikd unép To APTIO

2. Enevduosig

3. AoyapiaouoC CUCCWPEUPEVWY ANOOBETEWY
4. MeTAPOPIKA ayopwV

5. Aoyapiacpoc napaTtpaprypaToc

Molol and Toug Nio Navw AoyapiacHoug £XoUV CUVROWG NICTWTIKO
unoAoino;

A.1,2«ka 3

B. 2,4 ka5

1, 3 ka5

A.1,2kal 5

3. The information below refers to product XYZ

Total Sales
Date Units Value Units
€
1 July Opening inventory 2.000 50.000
3 July Purchases 3.000 90.000
5 July Sales 3.500

Using the LIFO method of inventory valuation, the cost of the materials
sold on 5 July was.

A. € 95.000
B. € 102.500
C. €87.500
D. € 45.000
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3. O nio KATw nivakag avagEpeTal aTo npoiov XYZ

ZuvoAikn NMwARoeig

Hpepopnvia Movadeg ASia Movadeg
€

1 IouAiou ApxikO AndBepa 2.000 50.000

3 IouAiou AyopEC 3.000 90.000

5 IouAiou NwAnoeIg 3.500

Xpnoigonoiwvrtag Tnv HEBodo anoTtipnong anobspgarwv LIFO, To KOOTOG TWV
npoiovTmv nou nwAndnkav Tnv 5 IouAiou eivai:

A. € 95.000
B. €102.500
r. € 87.500
A. € 45.000

4. The following statements have been made
1. If a company pays dividend to shareholders the shareholders’ equity is
reduced
2. Capital reserves are shown under equity.
3. Rent prepaid is shown under current assets.
Which of the above statements are correct?

A 1 and 2 only
B 2 and 3 only
C 1 and 3 only
D 1,2,and 3

4. O1 nio KAT®W SNAWOEIG £XOUV YiVEl

1. 'OTav pia eTalpgia NANPWVEI JEPICKA TO CUPPEPOV TWV PETOXWV HEIWVETAI.

2. Ta ke@aAdaiouxika anobeuaTika napouaialovTal KATw anod TNV Katnyopia
OUHQEPOV HETOXWV

3. Evoikia nponAnpwTea cupnepiAauBavovTal 6To KUKAOPOPOUV EVEPYNTIKO.
Moieg anod TiIG Nio Navw dNAWOEIG gival 0pOEG;
A. 1 ka2 poévo
B. 2 kal 3 yovo
r. 1 «kal 3 yovo
A 1,2 kar 3
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5. Which of the following are true?

1. With FIFO, the inventory valuation will be close to replacement cost.
2. With LIFO, the cost of sales is close to the current market value.

3. A disadvantage of the weighted average method of inventory valuation is that
the resulting issue price is rarely an actual price that has been paid.

A. 1 and 2 only
B. 2 and 3 only
C. 1 and 3 only
D.1,2and 3

5. Moia ano Ta nio Karw givai opOa.

1. Me Tnv peBodo anoTipnong FIFO, n anoTignon Twv anobepdTtwy €ival KOVTa oTo
KOOTOG avTIKaTaoTaong.

2. Mg Tnv p€Bodo anoTipnong LIFO, k6oToC NwANCEWV €ival KOVTa oTn ayopdia
a&ia.

3. 'Eva PeIoVEKTNHA TNG HECO OTABUIKAC HEBODOU anoTiunong anoBeudTwy €ival oTi
N TIYf €kdoong ondvia €ival N NpayuaTikn TIMA Nou €XEl NANPwOE.

A. 1 kal 2 povo
B. 2 kai 3 pévo
M. 1 kai 3 pévo
A. 1,2,and 3

6. The statements below refer to working capital.

1. When a company sells non-current assets for cash the working capital
increases.

2. When a company pays its creditors by cheque the working capital is reduced.
Which of the above statements are correct?
A. Both statements are true.
B. Both statements are false.
C. Statement 1 is true and statement 2 is false.
D. Statement 1 is false and statement 2 is true.
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6. O nio kKaTw dNAWOEIC avaPEpovTal 0TO KEPAAAIO Kivnong.

1. 'OTav pia €Taipgia NnouAdel OToIXEId NAYIOU EVEPYNTIKOU TO KEPAAAIO
Kivnong au&averal

2.'0Tav n €Taipgia NANPWVEI TOUG NIOTWTEC TNG ME ENITAYN TO KEPAAAIO Kivnong
MEIWVETA.

Moleg ano TIG N0 NAvw dNAWOEIG Eival OWOTEG?

A. Eival opBécg kai ol duo dNAWOEIG

B Eival AavBaopevec kal ol duo dNAWOEIC

' HdnAwon 1 €ival opBn kal dnAwon 2 AavBaopevn
A HdnAwon 1 sival AavBaopevn kal dnAwaon 2 opbn.

7. Which one of the following costs will be classified as capital expenditure.
A. The cost of installation before putting it into operation.
B. Machinery repairs
C. Machinery depreciation

D. Wages for machine operator

7. Molo ano Ta nio KATw £503a KATNYOPIONOIEITAI oaVv KEPAAAIOUXIKO £5§000.
A. KbéoTog eykaTtdoTaong
B. 'E€0da ouvTApnong Tou uNXaviuaTog
. AnooBeoelg MnxavnuaTtwy
A. MIoBoi TwV XEIPIOTWV TOU PNXAvhiuaToc.

8. Which of the following items are capital reserves

1 Revaluation reserve
2 Long term loan.

3 Share premium

A. land?2
B. 2and3
C. 1land3
D. 1,2and3
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8. MNoia anod Ta nNio KATW €ival anoBeHaTIKA KEPaAaiou
1. An6Bepua enavekTiynong
2. MakponpoBeopo daveio.
3. AnoBepaTiko KepaAaiou unep. To ApPTIO

A. 1 kar 2
B. 2 kail 3
r. 1 ka3
A. 1,2 kai 3

9 A wholesaler had an opening inventory of 300 units of item X valued at €10 each
on 1 January.
The following purchases and sales were recorded during January.
4 January Purchased 800 units at a cost of €12 per unit.
18 January Purchase 300 units at a cost of €13 per unit.
24 January Sold 500 units at a price of €15 per unit.
Using the FIFO valuation method, what was the value of inventory at the

end of January?

A € 5.600
B €11.100
C€6,300
D €7.800

9. 'Evag XovTpEUNOpoG €ixe apxikd andbeua tTnv 1 Iavouapiou 300 povadeg and To
npoiov X pe k6oTtog €10 ava povada.
O1 nio KATW ayopeg Kal NWANCEIG £€ylvav KaTa Tnv didpkeia Tou Pnvog Iavouapiou.
4 Iavouapiou ayopaoce 800 povadeg npog €12 Tnv povada
18 Iavouapiou ayopace 300 povadeg npog €13 Tnv povada
24 Iavouapiou nwAnog 500 povadec yia €15 Tnv povada
Xpnoigonoiwvrag Tnv HEBodo anotipnong anoBspyarwv FIFO, noia €ival n

adia Twv anoBspaTtwyv oro TEAoG Tou Iavouapiou;

A € 5.600
B €11.100
€ 6.300
A € 7.800
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10. WOK plc purchased a machine for €125.000 on 1 January 2022. After incurring
transportation costs of €10.500 and spending €5.500 on installation, the machine
broke down during operation, incurring €3.000 for repairs. Depreciation is charged
at 10% per annum.

At what amount will the machine be shown in WOK plic's statement of
financial position on 31 December 2023?

A. €115.200
B. €126.900
C €129.600
D. €112.800

10. WOK plc ayopaoe pnxavnua a&iag €125.000 tnv 1 Iavouapiou 2022. MeTa nou
danavnénke noco €10.500 yia peTa@opd Tou kal €5.500 yia Tnv eykaracraon Tou,
TO punxavnua napouciace BAABN kKATa TNV AsIToupyeEia Tou Kal XpelaoTnkayv €3.000
yia enidiopbwaon Tou. AndoBeon unoAoyileTal eTnaoia npog 10%.

Moia n TpExouca aia Tou HNXAavAHATOG OTIG OIKOVOHIKEG KATAOTACEIG TNG
WOK plc o1ig 31 AskepBpiou 20232

A. €115.200
B €126.900
r. €129.600
A €112.800

11 The statements below refer to the impact of the methods of valuing inventory on
the company’s gross profits.

Statement 1: In a period of increasing prices FIFO method gives a lower gross
profit than LIFO.

Statement 2: In a period of falling prices the LIFO method gives a higher
gross profit than FIFO.

Which of the following is correct?

A. Both statements are correct.
B. Both statements are false.

C. Statements 1 is correct and statement 2 is false.
D. Statement 1 is false and statement 2 is correct.
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11. 01 nio KATw ONAWOEIC avapEPoVTaAl oTNV €nidpaacn nou £xouv ol YeBodol
anoTignong anoBepdTwV NAvw oTo PEIKTO KEPOOC HIAc TAlpEiac.

AnAwon 1: & nepiodo nou ol TINEC au&avovTal n PeEBodog anoTipnong FIFO divel
XAMNAOTEPO HEIKTO KEPDOG and Tnv PEBodo LIFO.

ARnAwon 2: & negpiodo Nou ol TINEC PEIwvovTal N NEBodog anoTignong LIFO divel
MEYAAUTEPO HEIKTO KEPDOOC anod Tnv PeBodo FIFO.

Moieg anod TiG N0 KATW dNAWOEIG gival opOEG?

A. Kai o1 duo dnAwaoelg eival opBEg

B. Kai o1 duo dnAwaoelg eival A\avBaouEveg

. H dnAwon 1 eival opOn kai n dnAwon 2 €ival Aavbaopevn
A. H dnAwon 1 eival AavBaopevn kal dnAwaon 2 ival opbn

12. SPADE plc has the following information in its financial statements relating to motor
vehicles as at 31 December 2023.

2023 2022

€ €
Cost 188.000 182.800
Accumulated depreciation 58.000 51.800
Net book value 130.000 131.000

During the year ending 31 December 2023 the following transactions took place
in relation to motor vehicles:

Additions €18.400
Profit from the sale of motor vehicles €3.500.
Depreciation charge for the year €8.640

What is the amount Spade received from the sale of Motor Vans in 2023?
A. €14.260

B. €15.540
C. €7.260
D. €13.260
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12 O1nio KaTw NANPOYOPIEC aNoonacTNKayv ano TIG OIKOVOUIKEG KATAOTACEIG TNG SPADE
PLC yia 1o £€10G nou €An&e Tnv 31 AekepBpiou 2023 kal ava@epovTal oTa oxnUaATa
TNG €TalpEiac.

2023 2022

€ €
KooTtog 188.000 182.800
SUOCWPEUPEVN andoBeon 58.000 51.800
KaOapn ASia 130.000 131.000

o] nio KATw ouvaAAayeg eyivav KaTta Tnv d1dpKela Tou €Touc 2023 avagopikd PeE Ta
oxnuara:

MpooBnkec €18.400

KEépdoc anod Tnv NnwAnon Twv oxnuaTtwyv €3.500

AnooBeon €Toug €8.640

Moio €ival To N00O NOoU EICNPAXTNKE ANO TNV NWANCH TWV OXNHATWV TO
2023 ?

A. €14.260
B. €15.540
r.€7.260
A. €13.260

13. Depreciation is the process of allocating the cost of tangible assets over their
useful lives.

Which one of the accounting concepts below is consistent with the above
statement.

A. Prudent concept
B. Consistency concept
C. Matching concept
D. Historic cost concept

13. H andoBeon cival n diadikacia eNIPEPIOPOU TOU KOOTOUG EVOG OTOIXEIOU TOU NAyIou
EVEPYNTIKOU KaTa Tnv dIApKEIa TNG WPEAINNG (wNG Tou.

A. Apxn TnG ouvTnNPNTIKOTNTAG
B. Apxn TnG ouveneiag
C. Apxn TOU CUOXETIOMOU £000wV-€EOOWV

D. Apxn Tou 10TOPIKOU KOOTOUG
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14. A Ltd buys and sells three different products, X, Y and Z

On the 31 December 2023 the following information is given regarding the
company’s inventory.

Product X Product Y Product Z
Number of Units 1.000 2.000 500
Cost per Unit €1,2 €3 2
Net realisable cost per unit €1 €35 €1,5

The value of inventory shown in the financial statements on the 31
December 2023 will be.

A. €11.000
B. €7.750
C. €9.200
D. € 8.200

14. A A0 ayopadel kal nwAdel Tpia dlapopeTika npoiovta X,Y and Z

Kara tnv 31 AskepBpiou 2023 ol nio kKATW NAnpogopieg divovtal ava@opika He Ta
anoBEpaTa Tng €Taipeiac.

Mpoiov X Mpoiov Y Mpoiov Z
Ap16uog povadwv 1.000 2.000 500
Kooroc ava povada €1,2 €3 2
Peuoronoimnoiun a&ia ava povada €1 €3,5 €1,5

H aia Tov anoBepAT®WV OTIG OIKOVOMIKEG KATAOTAOEIG TNV 31 AskepBpiou
2023 0Oa ivai

A. €11.000
B. €7.750
r. €9.200
A. € 8.200
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15. ABC PIc has 50.000 shares of € 1,00 each. The company made a 1 for 1 bonus
issue.

The statements below refer to the impact of the bonus issue on the share capital
and cash in bank.

Statement 1: The share capital and the cash in bank are increased by €50.000.

Statement 2: The share capital increased by €50.000 but cash in bank remained
unchanged.

Which of the following is correct?

A. Both statements are correct.

B. Both statements are false.

C. Statements 1 is correct and statement 2 is false.
D Statement 1 is false and statement 2 is correct.

15. ABC Plc £xel ekdopeveg 50.000 peToxec ovopaoTikng a&iac € 1,00 n kabe uia. H
ETAIPEId NpoXwpnoe 0T £€kdoon dwPEAV PETOXWV oTNV avaAoyia 1 npog 1

O1 nmio kKaTw dNAWOEIC avaPEpovTal aTnNV €nidpacn nou Ba €xel N Nio NAvw €kd00n
OTO METOXIKO KEPAAAIO TNG ETAIPEIAC KAl 0TA PETPNTA OTNV Tpanela.

AnAwon 1: To PETOXIKO KEPAAQIO KAl Ta HETPNTA OTN Tpdnela au&avovTal KkaTa
€50.000.

AnAwon 2: To PeToXIKO Ke@AAaio au&avetal kata €50.000 aAAd Ta YeTpNTA OTNV
Tpanela napapevouv Ta idia.

Moieg anod TIG N0 KATW dNAWOEIG gival opOEG?

A. Kai o1 duo dnAwaozelg sival opBeg

B. Kai o1 duo dnAwaoelg eival A\avBaopeEveg

. H dnAwon 1 €ival opbn kai n dnAwon 2 €ival Aavbaopevn

A. H dnAwon 1 ival Aavbaopévn kai dnAwaon 2 sival opbn
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16. The statements below refer to Limited Liability companies?

1. The shareholders are not exposed personally to the debts and liabilities of the
company.

2. The board of directors are subject to increased legal obligations

3. There is a separation between ownership and management

Which of the following is correct?
A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only

D. All statements are true.
16 Oi nio kKaTw dNAWOEIC avaPEPOVTAl OTIC ETAIPEIEC NEPIOPICHEVNG EUBUVNC.

1. H €kBeon Twv PETOXWV TNG £Talpeiag oTov OAVEIOHO Kal UNOXPEWTEIG €ival
NEPIOPIOUEVN

2. To AloIKNTIKO ZUMPBOUAIO EXEI QUENMEVEG VOUIKEC UNOXPEWOEIC.

3. Ynapxel diaxwplopog peta&u 1diokTnoiag kai dieubuvong .

Moio ano Ta nio KATw €ival CWOoTO avaPopikd HE TIG N0 NAvw dNnAWOEIG ?

A. 1 kal 2 povo
B. 1 kal 3 povo
. 2 kal 3 govo

A. 'OAec o1 ONAWOEIG €ival opBEC

17. On the 31 December 2022 Dorelia Ltd had shareholders’ equity balance of
€357.019. The following information relates to the year 2023.

Profit after tax €90.009.
Dividends paid €75.000.
Bonus issue €135.000

What is the shareholders’ equity balance on the 31 December 2023 ?
A. €582.028.
B. €507.028.
C. €417.019.
D. €372.028.
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17. Kata tnv 31 AskeuBpiou 2022 TO CUHQPEPWV TWV HETOXWV ThG AopéAlag ATS nrav
€357.019. O1 nio KATw NAnpogopieg oxeTidovral Je To €Toc 2023

Kepdog peTa TNV gpopoAoyia €90.009.
MepiopaTa nou nAnpwOnkav €75.000.
'Ekdoon dwpeav peToxwyv €135.000

Molo €ival TO CUHQPEPWYV TO HETOXWV KaTa TNV 31 Aekepppiou 2023 ?
A. €582.028.

B. €507.028.
. €417.019.
A. €372.028.

18. The following statements have been made in relation to limited companies

Statement One: Preference shares do not have voting rights, but they are paid
before the ordinary shareholders on liquidation.

Statement Two: The ordinary shares have voting rights, but they do not have a
guaranteed dividend every year.

Which of the following is correct in relation to the above statements?

A. Both statements are correct.
B. Both statements are wrong.
C. Statement ONE is correct but statement TWO is wrong.
D. Statement ONE is wrong but statement TWO is correct.

18 Oi nio kaTw dNAWOEIG E£yIvav avapopika PE TIG ETAIPEIAG NEPIOPICHEVNG EUBUVNG.

ARnAwon 1: : O1 MpovopioUxeg MeToxeg dev €xouv dIKAiWPA WRQPoU aAAd €xouv to
dlkaiwpa va ionpd&ouv To KEPAAAIO NPIV TOU KATOXOUG TwV GUVNBEIG HETOXWV OE
nepinTwon d1dAuong TnG Talpeiac.

AnAwon 2: O1 ZuvnBeig MeToxEG £xouV dIkaiwpa WAPou aAAa dev £Xouv
EYYUNMEVO PEPIOUA KABe Xpovo.
Moio anod Ta nio KATw €ival cWOTO avaopikad HE TIG N0 Navm dNAWOoEIG ?
A. Eival op6gg kal o1 duo dNAWOCEIG
B Eival AavBaoueveg kal ol duo dNAWOEIG
I HdnAwon 1 €ival opOn kai n dnAwon 2 AavBaopevn
A HdonAwon 1 eival AavBaopevn kal n dnAwon 2 opon.
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19 A Ltd buys and sells two different products, X, Y

On the 31 December 2023 the following information is given regarding the

company’s inventory.

Product X Product 'Y
Number of Units 1.000 2.000
Cost per Unit €1,2 €3.70
Selling price €2 €4,5

Product Y had been hard to sell, and the company intends to have these items
repacked at a total cost of €1.000 and sell them at a price of €3,5 each.

What is the value of inventory shown in the financial statements of A Ltd
on the 31 December 2023?

A. € 7.200
B. €6.000
C. €8.400
D. € 8.200

19. A A0 ayopadel kal nwAdsl duo d1aPopeTIKA npoiovta X and Y.

Kara tnv 31 AskepBpiou 2023 o1 nio kKATW nAnpogopieg divovtal avapopika He Ta
anoBeparTa Tng €Taipeiac.

Mpoiov X Mpoiov Y
Ap16uog povadwv 1.000 2.000
Kooroc ava povada €1,2 €3,70
Tiun MwAnong €2 €4,5

To npoiov Y eival dUokoAo va nwAnBei kal n €Taipgia okoneUEl va TO GUOKEUATEI
&€ava pe ouvoAikd k0oToG €1.000. Mg To TpONO aAuTO Ba PNopEi va To NWANGCEl oTNV
TIUA Twv €3,5 TO €va.

Moia Ba ival n a§ia Tov anoBeparwv Tnv 31 AskepBpiou 2023 ota BiPAia
TNG A ATO ?

A. € 7.200
B. €6.000
r. € 8.400
A. € 8.200
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20 The finance department of the company prepared the company’s Income
Statement, for the year ended 31 December 2023, which showed a profit of
€5.000. It was found that €10.000 paid for the purchase of a motor van had been
debited to the motor expenses account. It is the company’s policy to depreciate
motor vans at 10% per year on the straight-line basis, with a FULL year’s charge
in the year of acquisition.

What would be the REVISED Profit for the year ending 31 December 2023
after the correction of the error?

A. €4.000
B. € 6.000
C. € 15.000
D. € 14.000

20 To OIKOVOUIKO THAMA TNG €TAIPEIAC €ToiPACE TNV KATaoTaon kepdolnuiwv yia To
£TOG Nou €An&e Tnv 31 AekeuBpiou 2023 nou £deixve kEpdog €5.000. MeTa Tov
ENEYXO MNOU €yIve gavnke 0TI noogd €10.000 nou NANPWONKE yia TNV ayopa evog
popTnyoU cixe Xpewbei oTa £€€0da oxnUaTwv. H NoAITIKN TNG €Taipeiag €ival va
anooBevel Ta @opTnyd Pe nocootd 10% To £€T0C PE Baon TNV oTaBepr) HEBODO
andoBeong kai va unoAoyilel andéoBeon yia OAOKAHPO 10 £€T0¢, 0TO £T0C ayopdc.

Moia Ba gival To kEPDOG TNG eTAIpEiag yia To £€ToG nou €An&e 31 AskeupBpiou
2023 peTa TnV 810p0Omwon Tou Aaboug;

A. €4.000
B. € 6.000
. € 15.000
A. € 14.000
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21. The trial balance of Bucks plc as at the year-end 31 December 2023 included
Interest on loans of € 34.000.

In the Statement of Profit and Loss under which heading the interest on
loans should be included?

A. Cost of sales

B. Administrative expenses
C. Distribution costs

D. Finance cost

21. To 100lUyio TNG €Taipeiac Bucks Plc. yia To €To¢ nou €éAnée oTic 31 AekeuBpiou
2023 nepiAapBave Tokoug daveiwv €34.000 .

ZTnv Kataoraon kepdolnHI®V KATw ano noia enikepalida 0a
OUHNEPIANPOOUV 01 TOKOI daveiwy;

A. KOOoToC NnwANoewv

B. 'E€0da diaxeipiong

. 'E€0da diavoung

A. 'EE0da XpnuaTodoTnong

22. The following statements refer to the preparation of the Statement of Cash Flow

Statement One: The finance costs and depreciation are added on the profit before
tax to arrive at the operating cash flow before working capital changes.

Statement Two: The purchase and sale on non-current assets are added to arrive
at the net cash flows from investing activities.

Statement Three: Increase in receivables and decrease in payables are deducted
to arrive at the cash generated from operations.

Which of the following is correct in relation to the above statements?

A. ALL statements are correct.

B. Statements ONE and TWO are correct but statement THREE is wrong.

C. Statements ONE and THREE are correct but statement TWO is wrong.

D. Statements TWO and THREE are CORRECT but statement ONE is wrong.
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22 O1 nio KatTw dNAWOEIC £yIvav ava@opika PE TNV €TOIKACIA TNC KATAOTAONC
TAPEIGKWV POWV.

AnAwon 1: To KOOTOC XpNUATOd0TNONG KAl Ol anooBECEIG NPOaTIOEvVTAl 0TO KEPDOC
npIV TOUC OPOUG YIa VA NpoodiopiCOUNE TIC TAUEIAKEC POEC ANO TIGC AEITOUPYIKEC
0paocTnNPIOTNTEG NPIV TIC HETABOAEG OTO KEPAAAIO Kivnongc.

AnAwon 2: H anokTnon kKal n nwAnon OTOoIXEIWV JN KUKAOPOPOUV EVEPYNTIKOU
npoaoTiBevTal yia va npoodlopiCOUNE TNV TANEIaKN por and enevOUTIKEG
0pacTnpIOTNTEG.

AnAwon 3: H au&non Twv XpEwOoTWV KAl N HEIWON TwV NIOCTOTWV apaipeiTal yia va
NPocodIoPiCOUHE TIC TAMEIAKEG POEC and AEITOUPYIKEG dPACTNPIOTNTEG.
Moio ano Ta nio KATM €ival CWOTO avaPpopikad HE TiG NIo Navm dnAwOoEIg ?

A. OAEZ ol dnAwaoelg ival opBEg

B. O1 dnAwoeig 1 kail 2 €ival opBeg aAAd n dnAwaon 3 ival AavBaopevn

. 01 dnAwoeig 1 kal 3 gival opBeg aAAa n dnAwon 2 ival Aavbaopevn

A. O1dnAwoelg 2 kal 3 ival opBeC aAAa n dnAwon 1 €ival AavBaopevn
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The information below relates to questions 23 to 25.

The following information is an extract from the financial statements of NEO Ltd for the
years ending 31 December 2022 and 2021. During the year 2023 the company did not
sell any non-current asset or raise any new loans.

2023 2022
€ €
Depreciation 50.000 45.000
Interest on long term loan 15.000 22.000
Dividends paid 80.000 100.000
Non-Current assets 1.254.800 1.100.000
Inventory 55.500 54.500
Receivables 55.400 61.300
Cash 4.500 5.000

1.370.200 1.220.800

Share capital hominal

value per share €1 500.000 500.000

Revenue reserves 560.400 386.600
Long term loans 277.800 296.200
Trade Payables 32.000 38.000

1.370.200 1.220.800

23. What is the profit after tax for 2023?

A. € 93.800
B. €273.800
C. €253.800
D. €173.800
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24. What is the amount that will be included under investing activities as an
outflow in the company’s statement of cash flow for the year 2023?

A. €204.800
B. €199.800
C. €154.800
D. €104.800

25. What is the change in working capital in 2023?

A. Increase by €600
B. Decrease by €600
C. Increase by €1.100
D. None of the above

O1 nio KATw NAnpoYopieg oxeTifovTal HE TIG EPWTNOEIG 23 HEXPI 25

H nio kaGTw kATaoTaong €ival anocnacua ano TIG OIKOVOMIKEG KATACOTACEIC TNG ETAIPEIAG
NEO ATd yia Ta €tn 2023 kal 2022.KaTa Tnv d1dpkKeia Tou €Toug 2023 n €Talpeia dev EXEl

nwAnoel ndyia oroixeia evepynTikoU n ouvayel véa Adaveia.

2023 2022
€ €

AnooBeoeig 50.000 45.000
Tokol 15.000 22.000
MepiopaTa nou €xouv NANPwWOEi 80.000 100.000
rayia oroixeia evepynTiKOU 1.254.800 1.100.000
TeAika anobepaTa 55.500 54.500
EionpakTea 55.400 61.300
MeTpnTa otn Tpanela 4.500 5.000

1.370.200 1.220.800
MEeTOXIKO KEPAAQIO 500.000 500.000
AnoBeuaTikd NPocodwv 560.400 386.600
MakponpoBeapog dAveiouog 277.800 296.200
MoTwTEG 32.000 38.000

1.370.200 1.220.800
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23. MNolo €ival To KEPSOG HETA TOUG (PpOPOUG yia To 20232

A. € 93.800
B. €273.800
. €253.800
A. €173.800

24. TMoio €ival To Nnoco Nou 6a PaiveTal KATW ANO TIG ENEVOUTIKEG
3paoTNPIOTNTEG, OAV TAHEIAKEG EKPOEG, OTNV KATAOTAOT TAHEIOK®WV POW®V
yida 1o £€10G 2023?
A. €204.800
B. €199.800
. €154.800
A. €104.800

25. Moo €ival n peraBoAn oTo KEPAAaio Kivhong 1o €1og 2023?

A. Increase by €600
B. Decrease by €600
. Increase by €1.100
A. None of the above
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